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Exercises

Solve. Check your solutions.

1.3 =13 169 2.3V2x=128 3.V3x+5=11 12
| 1
4. (3x+4E—-1=47 5.6-x)2+2=5-3 6.V3x+13=41

1
7. (x+22-5=023 8.\V3-2x—2=3-11 9. Vsx+2-3=05
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Solve. Check for extraneous solutions.

10. VBx +1=Vax+3 2 1. Va2 +3=x+1no 12 V3x=Vx +6 3
solution

1B.x=Vx+7+59 14.x-3Vx—-4=016 15. Vx+2=x—47

16. V2x —10=x—-557 17. V3x—-6=2—-x2 18. Vx—1+7=x10

19. Vex +1=V3x+157 20. Vx +9=x+7 -5 21.x — Vx + 2 =40 47




image3.png
Letf(x) = 4x — 3 and g(x) = x? + 2. Perform each function operation and then
find the domain of the result.

1 (f+ W) 2.(f-9® 3.(g- N
K +ax—1; —x2 +4x - 5;all 2 —4x + 5; all
all real numbers real numbers real numbers
4. (f-9x) 5. f(x) 6. E(x)
—3x% +8x — 6; dx = s,all real numbers z x#3

all real numbers x+2 - 3'
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Given f(x) = x> + 4x and g(x) = 2x + 3, evaluate each expression.

15. f(g(2)) 16. g(f(2.5)) 17. g(f(-5)) 18. f(g(—5))
77 355 13 21




image5.png
Find the inverse of each function.

1.y=4x-5 2.y=33+2 y=(x+1)7°
F1=xEs 1= V2 1= Va1
4. y=05x+2 5 fx)=x+3 6j(x)—2(x—2)
f1=2c-4 ) =x-3 109 =234
7. f0) =% 8. f(x) = 4x + 2 9.y=x
£ = 5x 100 = X3 2 Fl=x
10.y=x-3 Moy=%31 12.y=x3-8
Fl=x+3 =20+ 1 1=Vx+8

13, () = Va + 2 14. f(x) 15, fl) = 553
1) =x2—2forx=-2 £ 10=3x+1) ) =5x-3

16. flx) = 2(x - 5) 17.y=Vx+4 18 y=8x+1
0 =5+ V% 1= (x—4Pforx=0 F1=xgt
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Name the domain and range of the inverse of the function.

19.y=2v—1 20.y=2-1
The domain and therangeis  domain: x # 2;
the set of all real numbers. range: y # 0

2.y=V-x+8 2. y=3Vx+2
domain: x = 8; domain: x = 2;
range: y <0 range: y =0

25 y=x2-6 2%6.y=45
domain: x = —6; domain: x # 0;
range: all real numbers range: y ¥ —4

21.y=Vx+5
domain: x = 0;
range: y = -5
2.y = (x - 6)°
domain: x = 0;
range: all real numbers
1
(x + 4)%
domain: x > 0;
range: y ¥ —4

27.y =




